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1. H0<azx<1,l

X

x < arcsinx < 3.
1-x

R FI A arcsine B9 Taylor ZEURFFX.

2. B 1< <12, arcsine < arccosx; & 1/V2 < 2 <1, MA%EE K M.

3. HO<z<12,0

arcsinx < arcsin(1 — x).

4. FEH-1<x <0,0 arccosx? < arccosz.

5. H0< z < x,0 arcsin(x/6) + arcsin[ (2/3)sin(x/4)] < x/3. B.[305]1991,
98(1).

6. #0< z <1, sin(arccosx) < arcsin(cosx ).

R FIE=H1E%R sin(arccosz) = vV 1 — 22,

arcsin(cosz) = arcsin[sin(7/2 - z)] = #/2 — 2z, RBIEV1 - 22 < n/2 - x.

7. %41 2 I1<18},8 cos(arcsinx) < arcsin(cosx ).
2

R :2 2 = cose, W arcsin(cosx ) — cosarcsinx ) = 5 x- 1-z%= % — (oosa

+sma)———~/_251n(a+—)> -J2>0.
3x .

——‘—<arcsmx
2+ 1~ 22 2+(7l'—2)V
9. Carlson FEH . K02 < 18,F

8. Shafer-Fink A &% :

_bvl-x ot <*7______ v1i-x
22 +V1+x (1+ z)'°
21 x|
10. | arctgr | < ———F———— < 2.
1+V1+2?
11. larctgx—arctgyléZlarctg%‘Ylglx—yl.

12. Rangargjan AERX % = < y,zy >- 1,0

- LS y — L i
arctgy — arctgr < 2 Ao 7 .(JR[4]P.462)

13. & x>0,1

(1) l—f—;§<arctgx< x; (2) x-z23<arctgr < x.
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(3) (x+ x Darctgr > 1:
#8:% a = arctgr, [

-1 _ 2a
(x + 2 arctgr = snda > 1.

14. #&x>0,1

iln(l + x2) < arctgr < (1 + 2)In(1 + z);

i %<x<lﬂd’,ﬁ arctgr == In(1 + z2) — In2 + (n/4).

15. [MCM]. # x,y,z HIER,H arctgr + arctgy + arctgz < «. U
< x+y+t z.

16. K0 ak<§.z(sinak)2: 1,0
k=1

S o < narcsin —= . (B#4L,[3481,2000,5:25 — 26)
k=1 ‘/—71





